Central and Eastern Europe

I. How were Central and Eastern Europe different from the Maritime nations?

A. For the most part, these countries were landlocked…this made it more difficult to trade and establish overseas empires

B. The economies of these countries were primarily agrarian
1. most of the countryside consisted of large estates populated by serfs

2. the only non-agrarian economies were in the cities located on the Baltic Sea

C. Fighting occurred at home rather than at sea…the countries of Central and Eastern Europe had no colonies where they could fight their enemies

D. Before Austria, Prussia, and Russia began centralization and state building during the 18th century, there were no centralized governments in Central and Eastern Europe

*The decline of Sweden, the Ottoman Empire, and Poland (and the resulting power void) aided the Habsburgs, the Hohenzollerns, and the Romanovs in their efforts to centralize their respective territories

II. The Declining Powers…

A. Sweden
1. weak economy (depended on one export:  iron ore)

2. political division

a.  The Great Northern War (1700-1721)

1) began because of Russia’s desire for a warm-weather port

2) defeated Russia at the Battle of Narva

3) invaded Russia in 1708, but was decisively defeated at the Battle of Poltava

4) the war exhausted Sweden’s economic and military resources

b. after the death of Charles XII, the nobles reasserted their power over the monarchy

B. The Ottoman Empire
1. A little background…

a. How did the Turks and the Islamic religion spread into Eastern Europe (the Balkan Peninsula)?

1) According to Islam, there were two ways to attain Paradise (the Muslim equivalent of heaven)

a) live a moral and virtuous life as dictated by the Qur’an (the Holy Book of the Islamic religion)

b) die in a Jihad (holy war to spread the Muslim religion)

2) accordingly, the Muslims fought with a purpose

b. How did the Ottomans rule their empire?

1) ruled by religion, not territories

2) created units called millets
a) included all persons of a particular faith

b) various laws and regulations applied to the persons who belonged to a particular millet rather than to a particular administrative territory

3) non-Islamic people were known as zimmis
a) could not rise in the service of the empire

b) could not profit from the empire’s successes

c. Why were the Muslims so tolerant of other religions?

1) like the Christians and Jews, the Muslims believe in one God

2) the Muslims were especially tolerant of these groups

2. reasons for the Ottoman Empire’s decline

a. weak and stagnate economy

1) no domestic industry

2) exported only raw materials

b. overextended themselves militarily

1) began with their unsuccessful attack on Vienna in 1683

2) from then on, lost territory in Europe

c. political division

1) in Constantinople, political groups resisted the Sultan and any strengthening of the central government

2) as the military grew weaker, nobles in the many territories began to resist imperial power

C. Poland
1. King John Sobieski III

a. elected king who saved Vienna from the Turks in 1683

b. tried to centralize the government, but…

2. political division

a. the Polish nobility would not submit to a central authority, even the Sejm (the central legislative body of Polish nobles)

b. liberum veto:  opposition of any single member could require the Sejm to disband (“exploding the Diet”)

c. without a strong central government, there was no way to collect enough taxes to build up an army

*The ultimate price of this “noble liberty” was the disappearance of Poland from the map of Europe during the latter half of the 18th century (partitioned between Russia, Austria, and Prussia)
III. Those countries that gained power…

A. Austria and the Habsburgs
1. even though the Habsburgs retained a firm hold on the title of Holy Roman Emperor after 1648 (The Treaty of Westphalia), the non-Habsburg lands resembled Poland in their lack of central authority

2. chose to consolidate their power in their hereditary holdings

a. 17th Century:

1) Crown of Saint Wenceslas (kingdom of Bohemia (modern Czech Republic and Slovakia) and the duchies of Moravia and Silesia)

2) Crown of Saint Stephen (Hungary, Croatia, and Transylvania)

b. 18th Century:  Austrian Netherlands and Lombardy (in northern Itlay)

c. during the second half of the 17th century and later, the Habsburgs faced immense problems in these hereditary territories…

1) Calvinist Magyar nobility in Hungary resisted centralization

2) had to make concessions to local nobles to maintain control

3. Leopold I (r. 1657-1705)

a. resisted the advances of the Turks and the aggression of Louis XIV

b. suppressed the Magyars

c. conquered much of the Balkan Peninsula and western Romania

1) allowed the Habsburgs to develop Mediterranean trade (compensated for their loss of domination over the Holy Roman Empire)

2) however, these ethnically diverse territories would eventually prove to be more trouble then they were worth

d. Joseph I (r. 1705-1711) continued Leopold’s policies

4. Charles VI (r. 1711-1740) and the Pragmatic Sanction

a. Habsburg Dynastic Problem

1) Charles VI had no male heir

2) so,  Charles spent most of his reign seeking the approval of his family, the estates of his realms, and the major foreign powers of his daughter, Maria Theresa, as the next leader of the Holy Roman Empire

b. Pragmatic Sanction:  provided for a single line of succession through Maria Theresa (r. 1740-1780)

c. still, Charles left his daughter with several problems:

1) a weak army

2) less than two months after his death, Prussia violated the Pragmatic Sanction by invading the Habsburg province of Silesia

B. Prussia and the Hohenzollerns
1. The Hohenzollerns faced several problems in their quest to centralize their kingdom

a. the Hohenzollern territories were geographically separated

b. lacked natural resources

2. however, Prussia was able to centralize through the army

a. subordinated every social class and most economic pursuits to the strengthening of the army

b. even the nobility supported the Prussian military

3. Acquisition of territories:

a. acquired several territories through dynastic inheritance during the 17th century…but most were geographically separated from Brandenburg-Prussia

b. during the 18th century, Prussia expanded through aggression and connected the once separated kingdom

4. The “Fredericks”

a. Frederick William, the Great Elector (r. 1640-1688)

1) set the stage for the territorial acquisitions of the 18th century by taking the first steps to forge the areas and nobles into a modern state

2) broke the local noble estates

a) collected taxes by military force

b) allowed the Junkers (Prussian nobility) to have complete control over the serfs in exchange for their obedience

c) gave the Junkers positions in the government and army (had to swear an oath of loyalty directly to Frederick)

*Because of this, the brunt of taxes still fell most heavily on the backs of peasants and the urban classes…

3) organized a royal bureaucracy

4) established a strong army

b. Frederick I, “King in Prussia”
1) received his title when he aided the Holy Roman Emperor in the War of Spanish Succession

2) least “Prussian”  of his family

a) lived extravagantly

b) patronized the arts

c. Frederick William I (r. 1713-1740)

1) imposed strict austerity (in other words, he was much less extravagant than his father)

2) further centralized the bureaucracy

a) Kabinett government:  all lower state officials submitted all relevant documents to him for approval (essentially ruled alone)

b) United all government departments into the General Directory

c) taxed the nobility

3) increased the size and power of the army

a) between 1714 and 1740, the army grew in size from about 39,000 to more than 80,000

b) Prussia ranked 13th in total population, but had the 3rd or 4th largest army in Europe

c) imposed strict discipline and training

d) used the army to unify Prussia

--created an almost military state (separate laws applied to the army 

   and to civilians)

--the army, the nobility, and the monarchy were forged into a single    

   political unit

--laws, customs, and royal attention (Frederick William I himself  

   always wore a uniform after 1725) made the officer corps the     

   highest social class of the state

--attracted the sons of Junkers
--in that sense, the army (like Parliament in England) was the 

   centralizing agent in Prussia

d. Frederick II “the Great” (r. 1740-1786)

1) unlike his father (who believed that the army was a symbol of Prussian power and unity and avoided conflict) Frederick II could not resist using his new “toy”

2) upset the Pragmatic Sanction by invading Silesia

